
SAP ABAP table /BEV1/TZLZONE {Weekday-Dependent Transportation Zones}

_BEV1_TZLZONE

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

LAND1 [CHAR (3)]

LZONE_MO [CHAR (10)]

LZONE_DI [CHAR (10)]

LZONE_MI [CHAR (10)]

LZONE_DO [CHAR (10)]

LZONE_FR [CHAR (10)]

LZONE_SA [CHAR (10)]

LZONE_SO [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 /BEV1/TZLZONE-KUNNR = KNA1-KUNNR 
0..N

1

KNVV

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 /BEV1/TZLZONE-SPART = KNVV-SPART 
{0,1}

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 /BEV1/TZLZONE-LAND1 = T005-LAND1 
0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 /BEV1/TZLZONE-VKORG = TVKO-VKORG 
0..N

1 TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 /BEV1/TZLZONE-VTWEG = TVTW-VTWEG 

0..N1

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 /BEV1/TZLZONE-LZONE_DI = TZONE-ZONE1 

0..N

1
 /BEV1/TZLZONE-LZONE_DO = TZONE-ZONE1 

0..N

1

 /BEV1/TZLZONE-LZONE_FR = TZONE-ZONE1 

0..N

1

 /BEV1/TZLZONE-LZONE_MI = TZONE-ZONE1 

0..N

1

 /BEV1/TZLZONE-LZONE_MO = TZONE-ZONE1 
0..N

1

 /BEV1/TZLZONE-LZONE_SA = TZONE-ZONE1 
0..N1

 /BEV1/TZLZONE-LZONE_SO = TZONE-ZONE1 

0..N1


